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R2 = 5 I r2 = 3 I m1 = 15 I m2 = 16 I m3 = 30 I
m4 = 15 I S = 244 J
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R1 = 5 I r1 = 3 I R2 = 4 I r2 = 3 I R3 = 3 I r3 = 2 I
m1 = 16 I m2 = 15 I m3 = 12 I m4 = 10 I S = 212 I
α = π/3 J
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R1 = 3 I r1 = 2 I R2 = 5 I r2 = 3 I m1 = 5 I m2 = 10 I
m3 = 1 I m4 = 15 I S = 62 I cosα = 0,6 J
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R2 = 4 I r2 = 2 I m1 = 13 I m2 = 2 I m3 = 24 I
m4 = 13 I S = 120 J
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R1 = 3 I r1 = 2 I R2 = 4 I r2 = 3 I m1 = 50 I m2 = 13 I
m3 = 10 I m4 = 10 I S = 83 I cosα = cos β = 0,8 J
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R2 = 4 I r2 = 2 I m1 = 16 I m2 = 15 I m3 = 4 I
m4 = 15 I S = 150 I α = π/3 I β = π/3 J
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R2 = 3 I r2 = 2 I m1 = 10 I m2 = 2 I m3 = 30 I
m4 = 15 I S = 42 J
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R2 = 3 I r2 = 2 I m1 = 4 I m2 = 13 I m3 = 3 I
m4 = 13 I S = 99 I α = π/3 J
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R1 = 4 I r1 = 3 I R2 = 3 I r2 = 2 I m1 = 70 I m2 = 13 I
m3 = 6 I m4 = 13 I S = 306 I cosα = 0,8 I β = π/3 J
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R2 = 3 I r2 = 2 I m1 = 40 I m2 = 13 I m3 = 6 I
m4 = 10 I S = 138 I cosα = 0,6 I β = π/3 J
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R2 = 4 I r2 = 2 I m1 = 13 I m2 = 12 I m3 = 20 I
m4 = 13 I S = 144 J
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R2 = 3 I r2 = 2 I m1 = 3 I m2 = 12 I m3 = 10 I
m4 = 10 I S = 105 J
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R2 = 5 I r2 = 3 I m1 = 6 I m2 = 15 I m3 = 15 I
m4 = 12 I S = 96 J
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R2 = 5 I r2 = 3 I m1 = 12 I m2 = 6 I m3 = 26 I
m4 = 13 I S = 132 J
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R2 = 5 I r2 = 3 I R3 = 4 I r3 = 2 I m1 = 100 I
m2 = 10 I m3 = 15 I m4 = 15 I S = 420 I cosα = 0,6 J
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R2 = 3 I r2 = 2 I m1 = 3 I m2 = 10 I m3 = 13 I
m4 = 10 I S = 72 J
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R1 = 4 I r1 = 3 I R2 = 4 I r2 = 2 I m1 = 10 I m2 = 13 I
m3 = 6 I m4 = 15 I S = 88 I cosα = 0,8 I β = π/3 J
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R1 = 4 I r1 = 2 I R2 = 5 I r2 = 3 I m1 = 10 I m2 = 15 I
m3 = 6 I m4 = 12 I S = 129 I cosα = 0,8 J
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R2 = 3 I r2 = 2 I m1 = 3 I m2 = 10 I m3 = 10 I
m4 = 10 I S = 99 I α = π/3 J
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R2 = 4 I r2 = 2 I m1 = 13 I m2 = 4 I m3 = 26 I
m4 = 12 I S = 126 J
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R1 = 4 I r1 = 3 I R2 = 5 I r2 = 3 I m1 = 175 I
m2 = 10 I m3 = 12 I m4 = 15 I S = 424 I cosα = 0,6 J
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R2 = 3 I r2 = 2 I R3 = 5 I r3 = 3 I m1 = 5 I m2 = 15 I
m3 = 10 I m4 = 10 I S = 160 I cosα = 0,8 J
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R1 = 3 I r1 = 2 I R2 = 3 I r2 = 2 I m1 = 25 I m2 = 10 I
m3 = 4 I m4 = 10 I S = 98 I cosα = 0,8 I β = π/3 J
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R2 = 5 I r2 = 3 I m1 = 1 I m2 = 13 I m3 = 15 I
m4 = 15 I S = 88 I cosα = 0,6 J


